[image: image1.png]




= Year 9/10           = MEASUREMENT           = Worksheet 1
	1. Give the metric prefix for each of the following magnitudes.
0.001, 0.01, 1000, 0.000001, 1000000000, 0.000000000001

	2. If a person cycles for 45.0 minutes at an average speed of 16.0 kmh-1 and runs for 15.0 minutes at 10.0 kmh-1, what is the average speed during the hour?

    

	3. An air sample of volume 2.5m³ was collected and found to contain 6.5(g of lead. Calculate the concentration of lead in the air. How much lead do you expect to find in 6m³ of air?


	4. At 0(C 5.0 cm³ of ice has a mass of 4.6g. Calculate its density. Find the mass of a 35 cm³ ice cube at 0(C. Find the volume of a 35g ice cube at 0(C.


	5. The concentration of methane in the lower atmosphere has doubled since 1900. In 1900 the concentration was 1.0 ppm (parts per million). If there are 1.5 million molecules in today’s air sample, how many methane molecules are present?


	6. Find the accuracy of the following measurements: 

203.1g, 1.7010cm, 7.009km, 7000Mw.



	7. Find the precision of the following measurements:

203.1g, 1.7010cm, 7.009km, 7000Mw.


	8. Given that the measurement 1500 km has a precision of 

10 km, what is the accuracy of the measurement?

	9. Given that the estimation of 20000 people in a gathering on new year eve has an accuracy of 2, what is the precision of the estimation?

	10. For the following measurements, find (a) the most accurate (b) the most precise (c) the least accurate (d) the least precise.

322ℓ, 7.007ℓ, 1200.01ℓ, 0.00300ℓ.



	11. For the following measurements, find (a) the most accurate (b) the most precise (c) the least accurate (d) the least precise.
13 m, 10600 m, 90 m, 0.90 m.

	Numerical, algebraic and worded answers.
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1.  m, c, k, (, G, p


2.  14.5 kmh-1


3.  2.6 (g per m3, 16 (g


4.  0.92 gcm-3, 32 g, 38 cm3


5.  3


6.  4, 5, 4, 1


7.  0.1 g, 0.0001cm, 


     0.001 km, 1000 Mw


8.  3


9.  1000 people


10.  (a) 1200.01ℓ  


       (b) 0.00300ℓ


       (c) 322ℓ (d) 322ℓ


11.  (a) 10600 m  (b) 0.90 m


       (c) 90 m  (d) 10600 m
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